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ANEDI7 743 =4/ 8G9 XDOANEEY (AR /B :
AZSF7FITH6/RE ; (AIE) +4

(Fh#E)

AC 20, #Efm13, 3B 9 < H17 (+2 [BF] +1EE. +788)

hp 40 (4d10+12)

g+, RI+4, BEE+2 (KEOMETEMWISH L TITEM+H1R—FX)
FAHEIRIEE S : BRI (RBREH) . KE+1

[H%E]

FEENERE : 30ft.

W1 15 L—FY—F=4+10 (2d64+9.719~20) [#rE]

2 E—= 5 RE—=48 (1d8+6) [FET]H &L U [HIZE]

W3 RANA O - AU kLy k=47 (1dd+4) [HIZE]

=R U9z =45 (1d6+4) [HIZE]. 57230t

EIRIREE | 543T (h—2. 4 A4A—246) xERCEIRBEZMFFLEDOE

[—f&T—42]
(A7) 18, [&%] 14, [#W] 14. [%n)] 10, [3] 10, [%&]) 13
HAKRBER—FX+4; CMB (BEAR—7FX) +8; CMD (B [HEE) 21

B (A= 7FTJ5ie) H GRITY 1 (FESHL) F1 (REBERAE: JL—bY—F) F2
(EEE) 3 (HEEFHIE: FL—FY—FK) F4

HEe: (B2 +9. (HME) +4. (ZgE: &EBED +5

S5 . H@EE

iE % YL8Tgp EEB8IRU K

FTAI—> - b—F T5gp (FFE207 14— bDkERT HH)

+1 LR MTL—bF 1350gp 30 $BRFILT1-2

+H15L—kY—F 2350gp 8

EREE—=-VT XS — 308z 6

AL ALY+ 5gp 1

3 UvyJxl)r 3gp 6

RY—GR A G A=— - H—A2Y 200gp 1

s0—4 A9 LCRA X+ 1000gp 1

2 R—>ay AT -FaF7 54+ H9—2X 50gp

R—vav AT - LyY—-LRAFL— 32 508

EEWE 2 2

A—7 (#-507«04—+t) 10gp 5
RThy T/ oavx (FBFRE) 2 1
4 REE 2 4

2 JK&Z 2gp 8

EEHER 1sp 5

ARk (IR K)  5sp 1

4 #XBH 4cp 4
KITEHEITHEE gp

Sv7 1sp 1

2 B 2sp 2

2 [t 4gp 2

Fa—o (2K) 2cp

BAH 2cp 1

(BEZHL0V)  (BEEF) Cleave

BIEIRBMO—HEETTHRYEI2NOBEHRETE DS,

AR - (A7) 13, (G&3T) . EAKEBAR—F X +1,

FIE BETFTHVL 30T, BORVBEVEARARBER—FTFRZAVTHEVVANOBMEREY
b, HENLUE--BABERBYICFA—VFE5Z, SLIZFORMICHEEL, ADOEAEWN
AIZWEES3TADBMICEICEARAKER—FRZHANVTENKEZTSIENTES,
DEFRZAVTOEMNKEIL. 1SYYKRIZIBAETLATEEL, COEFHRETRAN:1S
B, BIIRDEDA—2VFTT7—N— IS RI2T-20RFILT 4 %5%2T5,




